1. 2. 3. ) 5. 6. 7. 8.
PONDEL]I 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 11,35-12,20 | 12,20-12,50 | 12,50-13,35 13,45-14,30 14,40-15,25 PONDELI
1.S0D AJ - U2 o TD - U2 ZSV - U2 VOLNO 7|B1/1-7/
1.0P = | | VOLNO 7
2.50D ET - U7 AJ - U2 DIZ - U7 VOLNO 7|B3/1-7/
VOLNO 7|B3/1-7/
VOLNO 7|B3/1-7/
VOLNO 7
VOLNO 5(B1 /1-5/
4.0P ED - Ul ED - Ul 5(B1/1-2/
2.AEE CJ-U3 AJ - U3 AJ - U3 EKP - U3 ZSV - U3 A A 8|B3/1-8/
2.E AJ - U1l AJ - U1l B3 /2-3/
1.KCR CJ-PR ZSV - PR AT - PR AT - PR VOLNO VOLNO 6|(B1/1-6/
3.K A A EKP - U5 8|B3/1-5/, B1 /6-8/
3.C 8
3.R 8
UTERY 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 11,35-12,20 | 12,20-12,50 12,50-13,35 13,45-14,30 14,40-15,25 UTERY
1.S0D A p AJ - U2 - ME - U2 ME - U2 VOLNO 14|B1 /1-7/
1.0P RJ - PR RJ - PR VOLNO 14|B1 /6-7/
2.50D AJ - Ul A ME - Ul ME - Ul D VOLNO 14|B1 /1-7/
2.0P MNT - PC VOLNO 14|B1/4-5/, B1 /7]
3.50D TRD-LAB | TRD-LAB TRD - LAB A A VOLNO 14|B3 /1-5/, SV 16-7/
3.0P DPR - ZR DZ - ZR VOLNO 14|B3/6-7/, B1/6-7/
4.50D SMV - U1l SMV - U1l TRD - LAB TRD - LAB TRD - LAB VOLNO 12[B3/1-7/
4.0P DPR - ZR DZ - ZR VOLNO 12[B1/3-4/
2.AEE CJ-U3 AJ - U3 AJ - U3 IKT - U9 IKT - U9 A ZSV - U3 16|B3 /1-8/
2.E AJ - U2 AJ - U2 IKT - U4 IKT - U4 16|B3 /2-5/
1.KR CJ-PR ZSV - PR AT - PR VOLNO 13[B1/1-7/
1.C IKT - U4 IKT - U4 15[B3/1-2/
3.K A A EKP - U5 16|B3 /1-8/
3.C IKT - U9 IKT - U9 16|B3/6-7/
3.R 16|B3 /6-7/
1.DT TRD -LAB | TRD - LAB TRD - LAB VOLNO [XX |B3/1-5l, SV /6-7/
1.0ZT TZZS - U6 TZZS - U6 VOLNO [XX[B3/1-7/
2.LT LT - DISTAR| LT-DISTAR | TRD - LAB TRD - LAB TRD - LAB VOLNO [XX|B1/1-2/, DISTAR /3-4/, B3 /5-7/
2.0ZT DZT DZT DZT VOLNO [XX[B1/1-2/, HL /3-7/
UTERY 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 11,25-11,55 | 11,50-12,35 12,45-13,30 13,35-14,20 14,30-15,15 UTERY
2.TP TZPV TZPV TPV TPV = TZPV TZPV MAP MAP Chlumec n. C.
1.TP MAP MAP = p p TPV VOLNO Chlumec n. C.
STREDA 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 11,35-12,20 | 12,20-12,50 12,50-13,35 13,45-14,30 14,40-15,25 STREDA
1.S0D A Al - U2 ST-U2 =] ST-U2 TD - U2 VOLNO 21(B1/1-7/
1.0P PK - PC PK - PC VOLNO 21[B1 /5-6/
2.S0D CAD - PC CAD - PC A ST-Ul ST-Ul 22|B1/1-8/
2.0P DPP - ZR DPP - ZR 22|B1/3-4/, B1 /7-8/
3.50D oD - Ul oD - U1l DIZ - Ul VOLNO 21|B3/1-7/
3.0P R R VOLNO 21|B3/3-4/, B3 /6/
4.50D AT (A AJ (A) - U5 VOLNO 18[B1/1-2/, B3 /3-7/
4.0P R R AT (B AJ (B) - U5 AJ (B) - U5 VOLNO 18[B3/1-7/
2.AE D D - » P VOLNO 23SV 11-7/
2.E R ESP - U3 ESP - U3 EMR - U3 EMR - U3 VOLNO 23|[B3/1-7/
STREDA 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 | 11,25-11,55 | 11,50-12,35 | 12,45-13,30 13,35-14,20 14,30-15,15 STREDA
1.K TPP TPP PV SVP 2 SVP AJ Al ZPV 20[Chlumec n. C.
1.R TZM TZM PV AB AB AJ AJ ZPV 21[Chlumec n. C.
1,C TCV TCV PV Al AJ TCV OK ZPV 21[Chlumec n. C.
3.K P P Al STO STO TPP R R 24[Chlumec n. C.
3.R p p Al OP AB AB VOLNO 23[Chlumec n. C.
3.C TCV TCV Al SZ OP SuU SuU VOLNO 23[Chlumec n. C.
CTVRTEK]| 7,50-835 8,45-9,30 9,45-10,30 10,40-11,25 11,35-12,20 | 12,20-12,50 | 12,50-13,35 13,45-14,30 14,40-15,25 CTVRTEK
1.S0D SMV - U2 SMV - U2 ET - U2 =) ET - U2 VOLNO 28[B1/1-7/
1.0P VOLNO 28[B1 /5-6/
2.50D AJ - U1 VOLNO VOLNO 28[B1 /1-6/
2.0P VOLNO VOLNO 28
3.50D AJ - Ul EKP - Ul AJ - U1 VOLNO 28(B3/1-7/
3.0P VOLNO 28
4.50D DIZ - U2 OPR - U2 OPR - U2 AJ (A) - U5 EKP - U2 SM - U5 SM - U5 VOLNO 25|B3/1-7/
4.0P ED - U5 SAJ - U2 SAJ - U2 VOLNO 25|B3 /1-7/
2.E EKP - U3 ESP - U3 R = ESP - U3 VOLNO 30(B3/1-7/
2.LT EKP - PR MAT - PR SM - U5 SM - U5 VOLNO 28|B1 /1-5/, B3 /6-7/
2.0ZT EKP - PR MAT - PR SAJ - PR SAJ - PR VOLNO 28[B1/1-7/
2.TP VOLNO EKP - PR MAT - PR SAJ - PR SAJ - PR VOLNO 27|B3/2-3/, B1 /4-7/
CTVRTEK 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 11,35-12,20 | 12,20-12,50 12,50-13,35 13,45-14,30 14,40-15,25 CTVRTEK
2.AE EKP - U3 D D D 3 E P VOLNO 30(B3 /1-2/, SV [3-7/
CTVRTEK 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 11,25-11,55 | 11,50-12,35 12,45-13,30 13,35-14,20 14,30-15,15 CTVRTEK
1.K TPP Al CH SPV ] TPP AJ ZPV VOLNO 28[Chlumec n. C.
1R TZM Al CH AB TZM AJ ZPV VOLNO 29[Chlumec n. C.
1,C TCV TCV CH Al OK OK ZPV Al 29[Chlumec n. C.
3.K p TPP Al STO STO TPP TPP VOLNO 31[Chlumec n. C.
3.R P AJ OP AB VOLNO 30[Chlumec n. C.
3.C SsuU SsuU Al SZ OP TCV TCV VOLNO 30[Chlumec n. C.
PATEK 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 11,35-12,20 | 12,20-12,50 12,50-13,35 13,45-14,30 14,40-15,25 PATEK
1.S0D A A VOLNO = 32[B1/1-4/
1.0P 32
2.50D UP 34[Svarcava/Hlusice
UP 34|Svarcava/HlusSice
33[B1/1-2/, B3 /3-5/
I 33[B3 /3
RJ - U2 RJ - U2 MAT (A)- U3 30(B3/1-6/
MAT (B) - U3 30|B3 /1-6/
35(B3/1-2/, B1 /3-4/, B3 /5/
. 35
PATEK 7,50-8,35 8,45-9,30 9,45-10,30 10,40-11,25 11,35-12,20 | 12,20-12,50 | 12,50-13,35 13,45-14,30 14,40-15,25 PATEK
1.K CH CH PV PV VOLNO =) 32[Chlumec n. C.
1.R CH CH PV PV TZM TZM 34[Chlumec n. C.
1.C CH CH PV PV TCV 34[Chlumec n. C.
3.K Al Al RJ RJ VOLNO 35[Chlumec n. C.
3.R Al Al VOLNO 34[Chlumec n. C.
3.C AJ AJ VOLNO 34(Chlumec n. C.
2.TP 3 3 UP 33[Chlumec n. C.
1.TP UP UP uP 34|Chlumec n. C.




